Infrastructure climate earth

JENSEN e

Environmental Product Declaration for

EPD for Precast Concrete Products
Camas Plant




General Information

This cradle to gate Environmental Product Declaration covers precast products produced at the Camas Plant located at Camas
WA. The Life Cycle Assessment (LCA) was prepared in conformity with ISO 21930, ISO 14025, ISO 14040, and ISO 14044, and the
governing precast concrete category rules and ASTM international's EPD program operator rules. This EPD is intended for
business-to-business (B-to-B) audiences.

Jensen Infrastructure Program Operator

1615 SE 6th Ave Camas ASTM International

Washington USA 98607 100 Barr Harbor Drive

(360) 834-3459

https://www.jensenprecast.com/ West ConShOhOCken’ PA 19428 [] u I I,

610-832-9500

https://www.astm.org

LCA/EPD Developer .
EPD 1158 Climate Earth, Inc. .
December 19, 2025 137 Park Place, Suite 204 climale earth
December 19, 2030 (valid for5 Pt Richmond, CA 94801 e

years) 415-391-2725 (_,

https://www.climateearth.com

ISO 21930:2017 Sustainability in Building Construction-Environmental Declaration of Building Products serves as the core PCR

Product Category Rules:
NSEF PCR for Precast Concrete, V3.0, May 2021.

Independent verification of the declaration, according to ISO 21930:2017 and ISO 14025:2006:

O internal M external

Third-party verifier
Thomas P. Gloria, PhD. (t.gloria@industrial-ecology.com) ® Industrial Ecology Consultants

Manufacture Representative: Troy Gustafson (info@jensenprecast.com)
This LCA EPD was prepared by Hossein Tavakoli, Director of North American LCA/EPD Services
Climate Earth (www.climateearth.com)

EPDs are comparable only if they comply with ISO 21930 (2017), use the same sub-category PCR where applicable, include
all relevant information modules and are based on equivalent scenarios with respect to the context of construction works.



https://www.astm.org/
https://www.climateearth.com/
http://www.climateearth.com/

General Information

Producer

Jensen Infrastructure is a U.S.-based manufacturer of precast concrete and engineered infrastructure products serving utility,
transportation, and civil construction markets. Founded in 1968 and headquartered in Nevada, the company operates multiple
manufacturing facilities across the western United States, including locations in California, Arizona, Nevada, Washington, and
Hawaii. Jensen designs, engineers, and produces a wide range of precast and infrastructure products such as utility vaults,
stormwater management systems, retaining wall components, and transportation-related structures. Products are manufactured
in controlled plant environments using standardized processes and are designed to meet applicable ASTM, AASHTO, and
project-specific requirements. The company focuses on providing durable, high-quality infrastructure solutions, supported by in-
house engineering services that deliver custom designs, stamped drawings, and project-specific submittals to meet the needs of
municipal, commercial, and utility projects.

Product
This EPD covers all precast concrete products poured at the Camas Plant, including but not limited to the products listed in the
table. The products covered in this EPD meet the following description and standards: EPD

Product Name Product Description Standards
ODOT P&L Barrier Precast Concrete Traffic Barrier ASTM C94 / ASTM A615
ODOT P&L Mound Barrier Precast Concrete Traffic Barrier (Mound Placement) ASTM C94 / ASTM A615
ODOT P&L Terminal End Barrier Precast Concrete Barrier Terminal Section ASTM C94 / ASTM A615
ODOT P&L 8 Hole BBD Barrier Precast Concrete Anchored Traffic Barrier ASTM C94 / ASTM A615
ODOT Guardrail Transition Precast Concrete Guardrail Transition Unit ASTM C94 / ASTM A36
ODOT Tall Barrier Precast Concrete Tall Traffic Barrier ASTM C94 / ASTM A615
ODOT Tall Narrow Base Barrier Precast Concrete Tall Narrow Base Barrier ASTM C94 / ASTM A615
ODOT Tall Mod Scupper Barrier Precast Concrete Tall Drainage Barrier ASTM C94 / ASTM A615
ODOT Tall to Standard Transition Barrier Precast Concrete Barrier Transition Unit ASTM C94 / ASTM A615
ODOT Type F Barrier Precast Concrete F-Shape Traffic Barrier ASTM C94 / ASTM A615
ODOT Type F Narrow Base Barrier Precast Concrete Narrow Base F-Shape Barrier ASTM C94 / ASTM A615
ODOT Type F Large Scupper Barrier Precast Concrete F-Shape Drainage Barrier ASTM C94 / ASTM A615
ODOT Type F Mod Scupper Barrier Precast Concrete F-Shape Drainage Barrier ASTM C94 / ASTM A615
ODOT Soundwall Panels Precast Concrete Sound Barrier Panels ASTM C94 / ASTM C33
ODOT Soundwall Pilasters Precast Concrete Soundwall Support Columns ASTM C94 / ASTM A615
WSDOT Type F Barrier Precast Concrete F-Shape Traffic Barrier ASTM C94 / ASTM A615
WSDOT Type F Narrow Base Barrier Precast Concrete Narrow Base F-Shape Barrier ASTM C94 / ASTM A615
WSDOT Type F Large Scupper Barrier Precast Concrete F-Shape Drainage Barrier ASTM C94 / ASTM A615
WSDOT Type F Terminal End Barrier Precast Concrete Barrier Terminal Section ASTM C94 / ASTM A615
WSDOT Type 2 Barrier Precast Concrete Traffic Barrier ASTM C94 / ASTM A615
WSDOT Type 2 Terminal End Barrier Precast Concrete Barrier Terminal Section ASTM C94 / ASTM A615
WSDOT 42” Single Slope Barrier Precast Concrete Single Slope Barrier ASTM C94 / ASTM A615
WSDOT 48” Single Slope Barrier Precast Concrete Single Slope Barrier ASTM C94 / ASTM A615
WSDOT 54” Single Slope Barrier Precast Concrete Single Slope Barrier ASTM C94 / ASTM A615
WSDOT 42” Vertical Back Barrier Precast Concrete Vertical Back Barrier ASTM C94 / ASTM A615
WSDOT 48” Vertical Back Barrier Precast Concrete Vertical Back Barrier ASTM C94 / ASTM A615
WSDOT 42” Large Scupper Single Slope Barrier | Precast Concrete Drainage Barrier ASTM C94 / ASTM A615
MSE Panels Precast Concrete Retaining Wall Panels ASTM C94 / ASTM A615




Declared Unit

The declared unit is metric ton of product.

System Boundary
This EPD is a cradle-to-gate EPD covering A1-A3 stages of the life cycle.

PRODUCTION Stage CONSTRUCTION USE STAGE END-OEF-LIFE
(Mandatory) Stage Stage
= o =
S = - L8 &0 9]
B S ] o = o) 8]
T g £ 7 . g E g .| 25| % g
s = 5 2 S £ . 2 = €3 B & &
g 2 ° £ b 5 @ g 3 g < g2 25 g s
= & b s 5 = @ g o, ] a £ 8 = o 2 =
= 5 E & g - £ & < 8 EE | g2 S g
H © o g Z Z T o 2 S 9 &3 L o
T 9 2] < =] Y A 17:] 2] o
3 2 g s E = R & ¢ g & g 2
73 g = s s 8 = A
=} = a
Al A2 A3 A4 A5 B1 B2 B3 B4 B5 C1 C2 C3 C4
X X X MND MND MND MND MND MND MND MND MND MND MND
Note: MND = module not declared; X = module included.

Cut-Off
Items excluded from system boundary include:
¢ production, manufacture and construction of manufacturing capital goods and infrastructure;
e production and manufacture of production equipment, delivery vehicles, and laboratory equipment;
¢ personnel-related activities (travel, furniture, and office supplies); and
e energy and water use related to company management and sales activities that may be located either within the factory site
or at another location.

Allocation Procedure
Allocation follows the requirements and guidance of ISO 14044:2006, Clause 4.3.4; and ISO 21930:2017 section 7.2. Recycling and
recycled content is modeled using the cut-off rule.

oY
RREE




Life Cycle Assessment

Table 1 Cradle-to-Gate Impact Results for Products Covered in Study (per 1 mtn of finished product) Camas Plant

Impact category Unit

Global warming kg CO:2eq

Al

2.21E+02

Jensen Infrastructure Products

precast, Camas Plant

A2

6.27E+00

A3

2.34E+01

Total

2.50E+02

Ozone depletion kg CFC-11eq

Eutrophication kg N eq

Acidification kg SOz eq

Smog kg Oz eq
Resource Use

Abiotic depletion (non-fossil mineral) kg Sb eq

Abiotic depletion (fossil fuels) MJ, NCV

Renewable primary energy resources as energy MJ, NCV

Renewable primary resources as material MJ, NCV

Non-renewable primary resources as energy MJ, NCV

Non-renewable primary resources as material MJ, NCV

Consumption of fresh water m?3

Secondary Material, Fuel and Recovered Energy

Secondary materials kg

Renewable secondary fuels

Non-renewable secondary fuels

Recovered energy
Waste & Output Flows

Hazardous waste disposed

Non-hazardous waste disposed

High-level radioactive waste

Intermediate and low-level radioactive waste

Components for reuse

Materials for recycling

Materials for energy recovery

Recovered energy exported from product system MJ, NCV

Calcination kg CO:2eq

Biogenic CO2 emissions kg CO:2eq

4.36E-06 2.65E-10 1.08E-08 4.37E-06
2.43E-01 4.52E-03 2.59E-02 2.74E-01
9.38E-01 7.53E-02 3.07E-01 1.32E+00
2.30E+01 1.91E+00 9.73E+00 3.46E+01
2.28E-03 0.00E+00 5.41E-08 2.28E-03
1.29E+03 9.00E+01 3.14E+02 1.70E+03
6.69E+01 0.00E+00 3.14E+00 7.01E+01
0.00E+00 0.00E+00 0.00E+00 0.00E+00
1.56E+03 9.00E+01 3.15E+02 1.96E+03
7.64E+00 0.00E+00 0.00E+00 7.64E+00
1.04E+00 0.00E+00 2.89E+01 3.00E+01
4.22E+01 0.00E+00 0.00E+00 4.22E+01
0.00E+00 0.00E+00 0.00E+00 0.00E+00
9.28E+01 0.00E+00 0.00E+00 9.28E+01
0.00E+00 0.00E+00 0.00E+00 0.00E+00
3.52E-02 0.00E+00 0.00E+00 3.52E-02
3.26E+00 0.00E+00 1.27E+00 4.53E+00
8.75E-04 0.00E+00 3.92E-10 8.75E-04
3.62E-04 0.00E+00 1.87E-09 3.62E-04
0.00E+00 0.00E+00 0.00E+00 0.00E+00
8.82E-01 0.00E+00 4.94E-01 1.38E+00
0.00E+00 0.00E+00 0.00E+00 0.00E+00
0.00E+00 0.00E+00 0.00E+00 0.00E+00
8.52E+01 0.00E+00 0.00E+00 8.52E+01
0.00E+00 0.00E+00 0.00E+00 0.00E+00

* This EPD meets all comparability requirements stated in ISO 14025:2006. However, differences in certain assumptions, data quality, and variability
between LCA data sets may still exist. As such, caution should be exercised when evaluating EPDs from different manufacturers or programs, as the
EPD results may not be entirely comparable. Any EPD comparison must be carried out at the construction works level per ISO 21930:2017 guidelines.
The results of this EPD reflect an average performance by the product and its actual impacts may vary on a case-to-case basis.
** Not all LCA datasets for upstream materials include these impact categories and thus results may be incomplete. Use caution when interpreting

data in these categories.




References

ACLCA. (2019). ACLCA Guidance to Calculating Non-LCIA Inventory Metrics in Accordance with ISO 21930:2017.

ASTM. (April 2020). General Program Instructions.

ecoinvent. (2021). The ecoinvent Database v.3.8. Zurich, Switzerland: The Swiss Centre for Life Cycle Inventories.

ISO 14020. (2000). Environmental labels and declarations — General principles.

ISO 14025. (2006). Environmental labels and declarations, Type 111 environmental declarations, Principles and procedures.

ISO 14040. (2006). ISO 14040: Environmental Management — Life Cycle Assessment — Principles and Framework.

ISO 14044. (2006/Amd 1:2017/Amd 2:2020). Environmental management — Life cycle assessment — Requirements and guidelines

ISO 21930. (2017). ISO 21930; Sustainability in buildings and civil engineering works — Core rules for environmental product declarations of
construction products and services.

Long Trail Sustainability. (2021). DATASMART (ES-EI Database). Huntington, VT: Long Trail Sustainability.
National Renewable Energy Laboratory. (2015). U.S. Life-Cycle Inventory (LCI) database.

PRé Sustainability. (2020). SimaPro Vers. 9.1.0.8. www.pre-sustainability.com/simapro.

US EPA. (2014). Tool for the Reduction of Assessment of Chemical and Other Environmental Impacts (TRACI).

US EPA. (2022). Emissions & Generation Resource Integrated Database (eGRID).

Infrastructure climale ear rh.

JENSEN e




